EHROKXDIE

POINT

KDOEZRD DI, GALNEXFZZOETEMRALTEHEL TS L,

R & LFICENT 5 LAESARICARDBER DD,

(1) wo[  |owickTz ARz s,

D a=+2—-30L %, @>+6a—5 D% KD S,

FOEEMRAD NV,

(5X) =a*+6a—5
=¢*+6a+9—9—5
=(g+3)*—14

LD R,

(5R) = (\/5—3+3)2—14

2
= —14

(5 =2*+xy+ o?
=2+ 2xy+y —xy
=(xt+y)’—2xy

(55 = {3 +1)+ {3 —1)}" — (V3 +1J¥3 - 1)

2 2 2
~ — - )

&

K#

(2) ROXDEZRKRD RS,

Or=s+2nLx, 22—2x

@ r=3+42, y=3—20 L x, rP—y

@ x+y= 2\/5, xy=—7TD L x, x*+°



EHROKXDIE

POINT

KDOEZRD DI, GALNEXFZZOETEMRALTEHEL TS L,

K EFICERT 5 L HANBICREHEND 5.

(1) wo[  |owickTz ARz s,

D a=+2—-30L %, @>+6a—5 D% KD S,

ZTOFEERADL VN,
(5 =a’+6a—5

=¢*+6a+9—9—5
=(g+3)*—14

(5R) = (&—3+3)2—14
2

=l J2 | —14

= —12

(5 =2*+xy+ o?
=2+ 2xy+y —xy
=(xt+y)’—2xy

(55 = {3 +1)+ {3 —1)}" — (V3 +1J¥3 - 1)

=l2va| (V3 |- 1 )

=12 |- 3 [|+]| 1

=| 10

(2) ROXDEZRKRD RS,

Or=s+2nLx, 22—2x
ERX=x"—2x
=x(x—2)

= (V5 +2)(V5 +2—2)

=5+ 25

@ x=3++2, y=3—V2mo Lt x, -y
5EXR=0r—y
=(x+y) (x—y)
={B+2)r b —2) > (s ++2) -~ 2)]
=6X 242

=122

@ x+y= 2\/5, xy=—7TD L x, x*+°
5K =2+
=x*+2xy+y*—2xy
= (x+y):—2xy
— [2v2)* —2x (=7
=8+14
=22



